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BlKEMERT HPPE(EF2 Ot 2 EE) L=5.00m $ 100 N 47 (235m#AE%(5%0m)
¢ 100(P) HPPE(E%) L=5.00m ¢ 100 PN 2 [15m# E%(5%0m)
EFfZAUF ¢ 100 X 45° & 2
AHEME (P) @100 x 45° & 2
PVIaAT b @ 100(P) x ¢ 100(V)| 1 1
ISVTE ¢$ 100 {& 1
BRI —b BRY—b W=150S m 245.0
HUHRET RURA—FEEY IR —LiIETF# ¢ 100 = 1
$100(P) ToRE H=800 #A 1
HARBRET SHARR ¢ 75 = 1
¢ 75 #HiEFH H=200 ¢ 75 = 1
ANBISUOOHEBHATEE H200 % ¢ 75 & 1
ISUTHEM 75 {& 2
SHNRRE H=800 #H 1
RAKEIEL HRIILFES KGR AER) $100% 20 & 6 |27 —{KE
ALAHBF 20 {& 6
HRLkie  |HIVP 1=4.00m 20 X 2
100X 620  |piT LR $20 1 12
Hiv 4k 20 {& 6
#EKEIET YRIILFES KRG AER) $100% ¢ 50 & 1|37 — k%
. 53 1B K2RV 7Y MSKX) ¢ 50 1@ 1
gtégi’\gf;% HiVP  L=4.00m 50 F: 1
SKXT LR 50 {& 2
BRRS—b BRI —b W=150S m 9.0 |2.0m x 244 1.0m x 54
FEE
BRiRA 2 Hig B | H0%E i &
BiE MR TEE
BLKEMRT RUIFLUOERERT ¢ 100 m 2450
¢ 100(P) RUTFLUEYMT ¢$ 100 a 3
RUIFLOEHRFT (BEES) | 6100 1O#F | &ar 47
RUTFLOEHF I (BEES) | ¢100 20#8F | & 2
ANZHILEEF T (P) ¢ 100 | 5
AAZHIBEFTI(V) ¢ 100 | 1
ISUTHFT $ 100 m] 1
FEHR—F BRI —b m 2450
SHARRERET SHNRRERET 75 = 1
AAZHIBFT(P) ¢ 100 | 2
TIVUTHMFT b5 | 1
RERET H=800 # 1
BHERE {& 1
HAKUIET YRS KREBEET RIER $ 100 % ¢ 20 & 6 |64
YRV ki HERLAAT 20 m] 6
$100% 20 E-—ILERET $20 m 8.0
TS#FT 20 m] 36
HAKUIET YRS KREBEET RIER ¢ 100 % ¢ 50 & 114
SRV KEE HERLAAT ¢ 50 O 1
$100% 50 E-—ILERET 50 m 10
RUIFLUEHET ¢ 50 m] 5
FEHR—F BRI —b m 9.0
KR ER
BKEER BKEHRT HKETE =] 0.123 |L/2,0008
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RiE B THRAR
BeKE ek H=800 | HFED 060 m 0975 m 20 m 117 m3
W RYE T H=800 | HFE® 060 m x 0985 m 2430 m = 14361 m3
B%F = 144.78 140
H=800 | MTE®D 060 m 0475 m 20 m = 057 m3
BHERLICSR) H=800 | HFE® 060 m x 0325 m 2430 m = 4739 m3
B%F 47.96 50
H=800 | MTE®D 0.60 0.250 20 m = 030 m3
HHERLI(GEEL) | H=800 | WE®Q 060 m X 0560 m 2430 m = 81.65 m3
EH 81.95 m3 80
BtmET 14478 m3 - 030 m3 0.90 = 5373 m3 50
TREREIGE) t=10m RC-30 060 m x 2430 m = 14580 m2 146
TIERETI(EE) t=15cm | RC-40 060 m x 20 m = 120 m2 1
LB T (EE) t=12cm M-30 060 m x 20 m = 1.20 m2 1
RAsEHZE T t=3cm FRAL 060 m X 2450 m 90 m = 15240 m2 152
KEIBAsFHETI(FE)| t=4cm R 190 m X 2430 m = 46170 m2 462
KREIHAsTHETI(EE)| t=4cm R 150 m X 80 m = 12.00 m2 12
AsThZErR Ui T t=4cm 24500 m + 400 m 200 & = 4980 m 498
AsTRZEMBER T(58E) | t=4cm 190 m X 2430 m A = 46170 m2 462
AsThZEhR g T(E#E) | t=5cm 150 m X 80 m B = 12.00 m2 12
RAsETHEE IR BE R T t=3cm 060 m x 2540 m 90 ¢ = 152.40 m2 152
AsTEFER- LT A% 0.05 + Bx004 + C %003 = 28.14 m3 28
RiE B THRAR
fHAKUET H=800 | HFE® 060 m x 0975 m 40 m = 234 m3
W ERYE T H=800 | HFE® 060 m 0985 m 50 m = 296 m3
B%F = 5.30 5
H=800 | EFE® 060 m x 0475 m 40 m = 1.14 m3
BHERLICSR) H=800 | HFE® 060 m 0325 m 50 m = 098 m3
B%F 2.12 2
H=800 | EFE® 060 m x 0250 m 40 m = 060 m3
HHERLI(GEEL) | H=800 | WE®Q 060 m 0560 m 50 m = 168 m3
EH 228 m3 2
RInET 530 m3 - 228 m3 0.90 = 276 m3 3
TREREIGE) t=10m RC-30 060 m x 50 m = 300 m2 3
TIERETI(EE) t=15cm | RC-40 060 m x 40 m = 240 m2 2
LB T (EE) t=12cm M-30 060 m x 40 m = 240 m2 2




$ 100 HPPE fd /K & ) % &£
UEE (m)
BB B & |0 ERE S | AR I i %
E
Z.-1 Z.-2 Z.-3 Z.~4 2.5 (O ([)
HPPE 100 5. 000 3. 000 2. 000 5. 000 1 I8 T SR
HPPE 100 5. 000 5. 000 5. 000 I
5 10. 000 8. 000 2. 000 10. 000 1
10. 000 8. 000 2. 000 10. 000 1. 000




4] ¢ 100 HPPE B 7K 4% B K
UEE (m)
al| s - & (m) Gl T
B OEM | B R& |0 ERE S . 3 i #
-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
1 HPPE 100 5. 000 3. 000 1. 000 1. 000 5. 000 2 | HETRAR 47
2
3
i 5. 000 3. 000 1. 000 1. 000 5. 000 2
5. 000 3. 000 1. 000 1. 000 5. 000 2. 000




